(10)

$$
\begin{aligned}
y & =\frac{(x+1)^{2}}{x-1} u \\
\frac{d y}{d x} & =\frac{(x-1) 2(x+1) 1-(x+1)^{2}}{(x-1)^{2}} \\
& =\frac{(2 x-2)(x+1)-\left(x^{2}+2 x+1\right)}{(x-1)^{2}} \\
& =\frac{2 x^{2}+2 x-2 x-2-x^{2}-2 x-1}{(x-1)^{2}} \\
\frac{d y}{d x} & =\frac{(x+1)(x-3)}{(x-1)^{2}}
\end{aligned}
$$

Nemember $\frac{d y}{d x}=0 \quad \therefore \quad \frac{(x+1)(x-3)}{(x-1)^{2}}=0$
Mulhipe bok side by $(x-1)^{2}$

$$
\begin{gathered}
(x-1)^{2} \frac{(x+1)(x-3)}{(x-1)^{2}}=0(x-1)^{2} \\
(x+1)(x-3)=0 \\
x+1=0 \quad x-3=0 \\
x=-1 \quad x=3
\end{gathered}
$$

$$
\frac{d^{2} y}{d x^{2}}=\frac{\left.(x-1)^{2}(2 x-2)-\left(x^{2}-2 x-3\right) 2(x-1)(1)\right)}{\left((x-1)^{2}\right)^{2}} \text { substituting } x=3
$$

Subshruting
substituting $x=3$

$$
\begin{aligned}
& x=-1 \\
& \frac{((-1)-1)^{2}(2(-1)-2)-\left((-1)^{2}-2(-1)-3\right) 2((-1)-1)(1)}{\left(((-1)-1)^{2}\right)^{2}}=\frac{-16}{16}-1 \text { max } \\
& \frac{(3-1)^{2}(2(3)-2)-\left(\left(3^{2}-2(3)-3\right) 2((3)-1) 1\right.}{\left((3-1)^{2}\right) 2}=\frac{16}{16}+1 \text { Min }
\end{aligned}
$$

To find the exact $x$ and $y$ coordinates find $f(-1)$ and $f(3)$. This will provide the $y$ values hence you have the local maximum and local minimum points.

Maximum is $(-1,0)$ and minimum is $(3,-8)$

